0l. f:R—>R @& f(x)=2x-3%@ T&fA® TN AT £~ (x) 9% T F?

1 1

X+3 2X 3
“ns Ons 95 D5 Oxn
T (c); 49, y=1(x)=2x -3 .‘.x=%§ 5 f"(x)=xT+3
02. (2”)_3 a7 T A2
2431 .
34 11 2

(2+i) \2+11i| J4+121 545 565
HA141: (b); —| = — = = =
®) 2+3i| 2431 J4+9 13

03.* @ 140% 2@/=IdF N9 4557 A &P, 55 & B @R 8 37 & Sow @3 fee | A 1 B @
@RI (A QT 7@/ ®@rE 22T Zo -

(a) 77 (b) 3 (c) 85 (d) 58 (e) 48
4r: (a); n(A UB)=n(s)-n(AUB) =n(s)-n(A)-n(B)+n(A NB) =140—45—55+37 =77
04. (1+x)a—bx)?

a7 fafere x* @7 7= Ay 77 o T %WWWWW SEEC T

] 5 2 3 9
a) — b) — — d) — —
(a) = (0) 3 © 3 ()= ©) I
Tar: (b); (a—bx)”° @7 © x"@@ o= ¢ a*™"(-b)". x"
x' qg el = c,a’(-b) =-12_a’b" ; xP@awwr = cat(- b)R =" c,a’b

~(1+x)(a—bx)"? a7 fgfers x° @ szt = 2ca'b® -2 c.a’b’

1.7 12
. a’b C a 5
2ca’b® -"?ca’h’ =0 .. = 8

= —==
a'b® ¢, b 8

05. x° —px*+qx —r =0 FTRAFIR TR RATS Tereter et e st -

(a) x3+px2+qx+r=0 (b) x3+qx2+rx+p:0 (c) rx3+qx2+px+1:0

(d) rx‘?’+qx:+px—1:0 (e) X’ —qx*+px —-1=0
AYE: (e); x° —px2+qx—r=035‘lwww o, B,y T, a+B+y=p; af+Py+ya=q; afy
l+1+__¢:1[3+[3y+'y¢:1 q 1 1 1 1 I.
a B vy oy r o Py afy r
21X’ —qx? 4 px =1 = 0TS Sorcare €7y e 77 |

R | ST




R ) e

1 + 1 N 1
579 7.9.11 9.11.13

| I 1 1 1 1 1 1 | 1

1 ” _ dy <=5 I _*
@ 2072300 ® 120 2100 91272300 Y 1272100 © 327 2500

1 o 1
(2n+3)2n+5)Y2n+7) 4(2n+3)2n+5) 4(2n+5)2n+7)
_ 1 1 11 1]
" 140 4(2n+5)2n+7) 140 4x25x27 140 2700

07. aﬁ&gwﬁﬁﬁﬁﬂwcwwwmcw{ﬁ,ﬂﬂ [2%] = fageiba crawe 9 TE-

+....... qAfog 10 N AT JCEA—

6‘#

AAEE: U, = =V

S =Vv,—V . AfE Bea (7% |

n

(a) 1+/3 (b)[1+2ﬁ] (c) 1-+/3 (d) [ﬁ;_l] (e) 2

0 0 1
rer: (d); (\/5=EJ=(L1) (2,£J=(1,«/5) VL T N ) Wl
4 3 7. 2 2
1 V3 1
08. 3x+4y=29R 4x—3y=—1 @R TS TN FANGIGCSA e 7 1 |
(a) 3x +5y =3 (b) 7x—Ty=1 | (c) 3x+11y =11
(d) 7x+11y =23 (e) 7x+15y=29

s19: (b); a;a, + by b, (@ forza, o1 fIodte forza Tufevstaa AN 2=, TR ANEIST |

foare, RIS Gl A9 XA | 3x—4y-2 _, 4x—3y+]

=3x—4y-2=42(4x-3y+1) = 7x-T7y—-1=0.[..7F 9= |

09. x*+y —4x—-8y—-5=0¢ x*+y’ —6x+14y—8=0 JT0CEF 4T T J1GT J0&9 (*H WA @ AP
HJZS ©f FEA-
187 143 243 287 87

@7 OFm 9 Yk © T

STNIIR: ISR SR G
:.‘:~J~:2+y2 —4x—8y—5—x2 —y2 +6x—14y+8=0 = 2x-22y+3=0

RHEPTATRIFAEIG | . X% +y° —6x+14y—8=0 JTAJT |

s @g =(3,-7) .. @y = 2x3-22(7)+3 P L e R g
\/22 +(=22) \/488
10. @2 Torqres ey (0,45)e FerFam y =425/3 20 Sorad A 23—
(a) 16x2 +25y2 =400 (b) 9x2 +25y? =225 (c) 25x2 +9y? =225
(d) 25x* +16y” =400 (€) 9x* +16y” =144

sy (d): b = S,E =25

Wm,b=5.e=% c—+L=1na=4¢

b
i
H
%
b
i




T wEg g | % T3 E ). KUET, CUET, RUET & 8 NI4T
11. I A+B+C=78 cosA+cosB=sinCz¥SE B @&@a N7 ZC=-

(a) n/3 (b) n/6 (c) m/4 (d) n/2 (e) 2m/3
g (d); A+B+C=m, casA+cnsB=sinC:Zcu{A;B)cn{A;BJ=2sin£ms£
n C A-B . C. C . G A-B . C C
—> 2¢c0s ——— |co =2sIn—Ccos— = 2sin—co = 2SIn—CoS—
2 2 2 2 2 2 2 2
:CD{B_A):CGSE “B=A+C==1
2 2 2
tan >
12, casEl:aCD;’(p_b R 2 g7 WIN (IE?
a—bcosp tan-(E
a+bsing a+bcnsq:- a+b Ja +b (:—1+E:i)2
(a) . (b) (d) (e)
b—-asing a—bsing a—b b a—b
TgE: (¢, e); cusﬂzammp b
a—bcoso
I—tan? >
g @ 2 _p
]—tanﬂi 1+tan(2P a —atan (5 —b-btan?? (aéb)—tanzg(a+b)
1+tan* — l—tan’>  a+atan®?P—b+btan?? (-b)+tan2(p(a+b)
a—b 2 2 2
1 +tan?
2
0
1+ tan’ -?—+I—tan22 (a—b)+tﬂn3g(a+b)+(a-b)—tan2E(a—r—b)
— 2
1+ tan’ -g—lﬂanze (a—b)+tan? 2 (a+b)—(a—b)+tan? L (a+b)
: >0 " 0
2 2(a—b) WS a+b 7 |a+b
=5 5= = = : S —== -
2tan’ — Ztng(a+b) tan? X 2~ tant V3
2 2 2 2
Alternative: 4f9, cn58=?]_5;;; (@=1b=143) ~0=m, - tan(8/2) SATEITS, ¢ 97 I VHI T
I:‘W.'ﬁi”?gff‘\liﬂil'l'ifﬁiOpti:::nn(::::}?JT(E) ‘ﬂﬁﬂmtﬂﬁﬁﬁl[va=b=1'€ﬁuptiun(e)"ﬂ"'ﬂﬂi@ﬁlﬁﬁ]
QI+, q:r— ,a=2,b=1%, CDSB—E:E;I— %.*.'El=120°
0
..%:%%: 3,0ption (c) 9a=2b=1%=, T3 T | FCH2 Ans. (e)
13. costan”! cotsin™! x 97 T7 F?
| ] T I
(a) 1 (b) x (c) — (d) — (e) —
X 4 4
T1gE: (b);
i / S ] 4 7 )
-1 . - | V=X _ i V1=-x" | 10y _
costan cotsin X =cos tan " coft| cot = COS tan = COS CO0s (x) =X
] \ x i \ A /




B[R Bz AP _ ; Ty é‘ S KUET, CUET, RUET &5 8 TaI41d

. o 2e¥ —2e M 4 kx
14. 'k' 97 @ W@ & 0

I —15 29?

2
X
(a) O (b) -3 (c) —20 (d) 8 (e) —10
X _ ~—4x _ X —4x
s (6); 1m0 2o L [%wm] _iim Z€ +§E K (L Hospital et =]
X X

k=-10 =R &34 @f6 % A9 Q@ @I L.Hospital &gy <=1 T |

Lo 2eX —32e7

L CTTRGE > =—15=w1 ..k=-10
15. y=sin®2x + 0802 X grey ji G T @HIG?
(a) 0 (b) —1 (c) 1 d-2 (e) 2
TMGE: (2); y =sin® 2x + 2 08C0S2X  —gjn? 2X + e 2% _gin? 2x +cos’ 2x =1 .'.‘—j-}:-=0
dx
16. x=ca5J§ T (1-x°)y, — Xy, 93 T« F9?
(a) 4 (b) 0 (c) -2 (d) 2 (e) -4
Y (d); x=cﬂ5\/§:>y:(cus_l x)z Ly =2cos” }{—— 1 2]
1—-x
— 1 1 _ 2. —xv. =2=0 ~1=x*W. —xv. =
= V1-x Y:+Y|2m(_zx)+2[_ 1_11]—0 ::’(1 X)YZ XY1 2=0 "(1 K)y-? RY| 2
2
17. Jlﬂan xzdx a3 T @A0?
(1+ tan x)
(a) : +c¢ (b) : +c (c) ] +c¢ (d) : +c (e) — : +C
1+cotx ] —tan x 1+ cosx l—cotx 1+ tan x
2
AT (e); _[ 2 dx =I%=—l+c = — 1 +c
1+tanx)2 z Z 1+ tan x

qfq, 1+tanx =2z -.sec” xdx =dz :}(l+tan2x)::|x=dz
18. J:e'z" cosdxdx aF AW (FFH?

-2x z _,l_ L
(a) e (b) 0 (c) S (d) 5 (e) >0

saraE: (d); «fe, =‘[eﬁz"‘ cosdxdx = cos4x_[e‘2"dx —J[i (cas4x)j e‘z"dx}]x

-2x -2

-2X
= Cos4xX —_[ —4s1n4x x c dx =-— e ™ cosdx —2_[&:_2“ sin 4xdx
-2 -2
_E—Zx cos4x i : p) d _7
— -2 51114);_[&-- X dx—j s1n4x “Xdx
2 - dx
-2x —" 21
== 3054}( cns4x~—2dx = 5I=¢"**sindx — c2054x

e, R fremesmEmeen




o omrore SRR . oo

g — =130
e *sindx e Xcosdx r e ax | €7 cosd4x e cosdx

5 10 “Jo 5 10

- -0

Sl =

=U—O—U+L [.'.e'z'” =0] -1
10 10

19. @3 et rgorm P IfEa 279 0.2mm/ sec | TIT TENE Tmm ST & I ST Jfad IR 20—
(a) 0.0123cc/sec (b) 12.23cc/sec  (c) 1.232cc/sec (d) 12.324cm/sec (e) 0.1232cm/sec

TAIYE: (€); EIl=0.2.1~=7 . Ve
dt 3
.'.d—v=i:rt:»:3r'""'E =4-m‘EE =4nx7%x0.2 =123.15mm3fsec=0.123cmfs
dt 3 dt dt |

20. I 9 @< [ @3 3 ¢ T @I =7 @3 Fgre IS {0 I @ ove Afe @ AT 32
SO G W IR T oTH 0 O T I T

(a) 27/</5units  (b) 72/v2units  (c) 18/v/Sunits  (d) 27units  (e) 9//3units

2
T (a); R=—3‘3 ; 9+PcosO=R cos90°=0, PcosB=-9, Psin@=R

, R 2 .
:>SIT19=—P—=§ .'.cnsez—%_s— [.'.9}90“ cnsB{O] P{—-?]:-Q .'.P=%
2], W @3 fqre e 03 ae wfdm Im V10 N @3 oo 7 @i 45° | Sz @ < T
V2N 2t w=ifS v foar w1 |
(a) —5N (b) 2N (c) -3 N (d) 7N (€) 3N

T (b); R =P? +Q% +2PQcos® =10=2+Q? +2v2 Qcosds® =8=0Q>+2Q

=Q°+2Q-8=0 ..Q=24 f&g, Q%4 ..Q=2N
22. 10kgsts @30 38 9.81 v oot xrw #ifew 2 wifbw wwer 1.962 fi: e w0z 53w =0 | Wb Afewary
3 GF T F9?
(a) 588.60N  (b) 29830N  (c) 245250 N (d) 4905 N (e) 9810 N
TarE: (a); mg(h+x) =Fx =10x9.81x(9.81+1.962) =Fx1.962 = F = 588.6N

23. 0.25Kg @ 0.50 Kg St 73T 38 W@ h; @R h, IHO1 0 [@OIA #413 932 5 sifexifers g
e | h,/h, 93 77 fFfa a9

3 11 3 . 2 3
(a) 5 (b) s (c) - (d) 1 (e) 3

149 (d); E=%mv1 :%megh=mgh

hy m, 050 2

h, m, 025 1

24. A< B o3 T (SIS IEH 38 4 GFF 3T QR 28 | IFF I &0 | 45 GTF FIT @ 20 U
T AT TS 7 1S 7@ (T A @7 &S 93t@ =1/ 105 932 ©T B @9 & 1 2T73T) f ZET-

(@) 100Taka  (b) 135Taka  (c) 142Taka  (d) 180Taka  (e) 160 Taka

TR | o

E oc mh .. m,h, =m,h, =




B B8 g | { Ty % | KUET, CUET, RUET & 38 NI4T

TEE: (€); 3x+4y <45

2x+y<20 x\
45

%y 20 &9
“zxy =10x+12y =10x10+12x0=100 -

Y

Z, =10x7x+12x6=142 5 7, =10x0+12x 2> =133

;. I AS = 142519 | |
25. 39 @ RS W ediTe otS | SR Oithd sifde I80@d 9@ 75% &% 8 80% ¥ AW FACS AN |
CATSIT (31 @b TS d e 39 ST =R 2/TF FAAGH I TG PO?

: 1 11 9 19
@ -5 ®) 20 T T 20
3 4
{1 ’ PI:_:PS=_
ar:(e); P(I) y (s) 5
3 4 3 g 1 3.4 3 _15+416-12 19
15)-3r4-2 L BIUS)- RO HE)-Blns) - 2023 1210

T

—

26. (S39 E=2§+3}—Enﬂ?ﬁ B=6i—3j+2k a7 TR R el 37

(a) 82°2' (b) 78°54 (c) 79°1' (d) 81°2 (e) 78°24'
[
: 6 = cos”!| - | = cos™ j2—9 =2 —cos” ——— =87.81° =87°48
|A”B J4+9+1/36+9+4 J4x7
\ J
. ofoe Tea (7% |
27. 42x10*ms™ @1 v @3 fASGT AfeifE aifza w1 | Febem ©a 1.67x107% kg |
(a) 13.63] (b) 16.36x107°7 (¢) 13.36x107°J (d) 14.73x107°J (e) 14.73]
( )
JAYE: (¢); F= mc> —m“:,c2 AN —=—m_ ¢’ [v=4.2x10"]1=13.36x107"J
1-—
\ C J
28. 22ms”' @@t Wt 0.25kg S@d @3 f@es e G (RS @ 0.12s AN oy Afew e
(TG T9F AYS T4 (77 94 |
(a) 45.83 N (b) 46 N (c) 45.6ergs  (d) 46.1]  (e) 55kfms™"
TaigE:(a); = : = 02122 =183.33ms> ..F=mf =45.83 N
29. I CEFT MERT G 22.5% ST T, SIRCE AETTIE TS (A7
(a) 3.6s (b)2.21 s (c) 3.6min (d) 2.21min (€) 2.5s

TE: (b); ~L= [—L AT, =T Ez—=2><Jl'225 =2.2135
T, V\L, - L, [

R 02§ I




o mmoreve STV

30. 2m W @ Imwmwﬁﬁhmwmzmwmwwmﬁm?

[Y =2x10" Nm™
(@) 2x107%cm  (b) 4x10*m () 2x10%km (d) 2x10~m (e) 4x10>m
ww (d), Y‘—'FL l= FL — Tﬁzoxz . =2_2 =2x10—4

Al AY 107 x2x10 10

31. Uzmmamﬁﬁiﬁ"nﬁaloou‘ﬁmﬁﬁmwﬁmmﬁﬁmlﬁmﬁﬁt—%wﬁﬁ%ﬁ%
9| (NT 9B =72x10°Nm™)
(a) 82 ergs (b) 81.31J (c) 81.46 ergs (d) 81 dynes (e) 80.2 ergs
T (€); 1=0.1mm=0.1x10"m=10"*m; R=3nr=10r=0.1x102m=10"m
T=72x10"Nm™ firfe e = 4r(Nr? —R? )r =81.43x107 J ~81.46ergs

32. W%WWWWW ITF 8 M FAT FAE G 23.3cm, 75.1cm 912
102.5cm =W 519 (Rel 3503 | ©31eT Iga ST o7

(a) 189°C (b)—189.05°C  (c) 190K (d) —1884°C  (e) 187.8°C
s: (b); 0, = -8 Lo y1opec = 23:3=75.1 x100°C =—189.05°C
“P, P 102.5—75.1

33.  0.5kg &w=@ 0°Ceor@R I[weE 100°C SI9m@e I HARTE FATS T I LTHSHH?

() 15.11x10°]  (b) 1.511x10°]  (c) 11.51x10°]  (d) 1.11x10°J (e) 1.25x10°]
FE: (a); H=ml; +mSx100+ml, =0.5[336000+100x 4200+ 2268000]

=1512000 =1.512x10° J =15.11x10°]J

34.* effs TAfBRGIE wqw Wy fAfy w2, 3 @ 9t MR AYGTTE TG TF 2 24x10 cm @32 e
TR 2x 107 cm @7 3T 77

(a) 2.344x%10% /cc (b) 2.4x10% /cc (c) 2.34x10/cc
(d) 3.044x10%! /cc (e) 2.8x10% /cc
] 1
AYH: (a); A= S, A = A, n=
(®) v2rd®n V2rd\

1
\/Exrrx(leO"Ef x(2.4><10'ﬁ

35.% ey e wéifee o war trvda W 4753 A =t 23 b wrer e <
[Wien's&$<® =2.88x10mK] .
(a) 6059K (b) 6.05x10°°C () 7000K (d) 6109K (e) 6x10°K
TEE: (a); 99T, b=2.88x10"mk ; A_=4753x10""m

-3
T S, A T=b @1, T= 2.88:{10_“] K =6059K
' 4753x10

36. aﬁwmﬁwmww% | @ Ry w3 oy v s frea

ql, n=

)fcc'=2.344x102“/'cc ,.

T 2T T 3n
(a) " (b) 3 (c) r3 (d) 7 (e) —

T |




s e e SRR RN

TEE: (€e); W‘ﬁ*ﬂ%ﬂzqfﬂ"nﬂﬁﬂxﬂ -ty tB R
A 4 A 2

37.* «3f5 3w foq wie SfCTTRIE 97 LIETET WATS OITN FHIE 6:5 TS +Affaes | M o™
=g @ 332ms” =W, OF 3fae @ iy e
(a) 32ms” (b) 302cms™  (c) 30.18ms™'  (d) 3Ims™ () 31.14ms™
L (¢); ST i, V= V% r_¢p _-_332+V5 :E M, 332=11V, 0, V. =30.18ms™’
V-V, 332-V, 5 -
38. @I TR ATS YRET ofSl sifted *prease |.4m” 93 I MW AT TGIS! 79 3cm | 2@
ey AT 39 | |
(a) 4.1x10CuF  (b) 4.132x107*uF(c) 4x107*F  (d) 6.42x107*F (e) 4.4x10™°F

€, A

sty (b); e @i, C = =4.132x107puF

931, € =8.854x102C’°N'm™ ; A=14m’ ; d=3x10"m
39. @36 40 Watt @3 f® 10 ff 6 4z T | e @pfes =& Joule—« a7
(a) 24x10°]  (b) 2.4x10%T  (c) 24x10°T  (d) 2.4x10%] (e) 4.4x10°]
FargE: (b); W=Pt =40x10x60 =2.4x10%] @aw, P=40 watt ; t=10 <5
40.% G35 JETEINCT A TSN AF TR 60 @GR BT 240V | G (N FISAR AF AT 106 A, QiR

ISA (SITCOE I97
(a) 420V (b) 400V (c) 440V (d) 430V (e) 424V
FgE: (e); 99T, n, =106 ;5 n =60 ; vp=240v s v, =7
-\i:& T, VS=VF><:“5 =240xﬁv =424v
V, n, n, 60
4]. O TR S-S CROaE SR SoAre 7 3 IuT @« Refe 30° 1| o <jfddia oiwe oo s Fo7
(a) 36x10°°T  (b) 32.33uT (c) 35.8uT (d) 3.4x107°T (e) 33.45uT

swrgE: (¢); H=Bcos® ; B=358uT @3, 6=30" ; H=31uT
42. @ e eferareE /2 @@ forem @ 60°=w Pew Rpfs @i Fe?

(a) 30° (b) 35° (c) 40° (d) 45° . (e) 50°
. A+9,
Sin

T (a); = i 28 =30° @, A=60°" ; M=+2

Sin —

43. @3 SIoH WA (IR iRg 22cm | Wl e O W 3§ FIH 0 b RS afefew «near Ay
(a) 0.25m (b) 26cm (c) 0.28m (d) 27.5cm (e) 0.27m
1 1 1 ] ] ]

A"
T (d); WA, — =4 v=4u 9, —+—=— 9, —+—=
) u u v f u 4u 22

44.* Rereia G SR SETR @ 3x 108 ms ™ Siheat oot | it wivew WA fe@m 780, R wy e 111 wizeA
AP FO? ~
(a) 8.2x10°m  (b) 8.741km (c) 9.125km (d) 8.8x10°m  (e) 8km
4: (b); ST &I, ¢ =4mnd ; d =8.741km @, c=3x10°ms™, n=11, m=780

BN evmcommmoen

9, u=27.5cm

>




| & |

(c)5.05eV
~34 8
g (d); W =£"1 26.63x10 xixlﬂ =2.07ev
A 600x10

QMT, h=6.63x10""Js ; c=3x10°ms™" : A, =600x107m
46. (OTHFT @O WY 3.8 | wifey wrmreE eat 30% T Lo F© ANT FAMCI?
(a) 1.95days (b) 2.95days (c) 29.5days (d) 19.5days (e) 5.95days

AqI4: (a); 1:@ A, A =.1824day ™
T

ST e, N=Ne™ a1, 7N, =N,e" a1, t=1.95 days @21, N=.7N_
47. a3 GRS (W0 o = 0,959 I = 0.9mA =z B T° 2@

(a) 19 (b) 16 (c) 18 (d) 12 (e) 10
Fq14E: (a); B=_—>_ =='—SE =19 ; a=.95
l-a .05 '
48. e Rfer e Teenfire sfee *feg «fme 5.8x10° MWh | TS ©tE SAfame % 212
(a) 22kg (b) 23kg (c) 22.4kg (d) 23.2kg - (e) 22.6kg
14
TarqE: (d); s i), E = me’ 4, mz% L o aiall =232kg
c (3x10t)
49. a3 "2 Staw o% I 20°C ST SRS 100cc | A BT ©% AT F7 A 50°C 71 Tae T4 =,
Old qIASq $6 Z(J?
(a) 109cc (b) 115cc (c) 112cc (d) 110.2cc (e) 102cc
V, T, 323
T (d); —=—; V,=100x—cc =1102cc
vV, T, 293
50. 9T AIF BIEF 25 GUICS 600m TT0eT GF (TT <1 (T | BATHT AL ©IF (iTera T ey o571
(a)31°26 (b) 31.62° (c) 30°36 (d) 31.5° (e) 35.2°
914 (b); V:EO—G=24m5"; r=§99=95.49; 0 =tan™ M =31.62°
25 2n - reg

%

SI. 15°Cetm@m 1.0 @ O, W *ife=ifE 3.6x10° Jzter 'R" @7 T 7@ 224

(a) 8.314J (b) 8.791 (c) 160.00J (d) 8.333] (e) 8.316J

FgE: (d); E, = %nRT R =8.333] [¥7 Q.S. @ «3% ] i€ aF® @3 JK"Imol ! )

52. 100 ml H,SO, 750 ml *ifre qltee w41 2t maveia *fe cieifafe fidy o |
(density of H,SO, =1.98 gm/ml)
()1.36M (b) 13.60 M (c) 2.69 M (d) 0269M  (e) 0.68 M
e (¢); 100 ml H,SO, =100x1.98 gm H,S0O, =198gmH,SO,

s = 198, 1000, con
98 750

EIER | SETTTTTwaames
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53.

54.

55.

56.

57.

38.

59.

60.

61.

62.

@i erEEs @EzeE SnCl, @k HCI wFt [Refre st & todt 27 [Ans: d]
(a) CHNH,  (b) CgHsCH,NH, (c) C4Hg (d) C;HsNH —NH, () C¢HsOH
30°Cerm@E 10.0dm?> s B sfEree *wm 519 15.50atm 20 S SR e o1 397
(a) 99.62em  (b) 0.06gm (c) 199.38gm  (d) 187.09gm  (e) 188.15gm

m VM
T (€); PV ==RT: na:EE =199.38gm
@A, P=15.50atm ; V=10.0L ; R=.0821; Latm mol"k™' ;' m=?
o @ oo-Reee Cr «refba Tfgfe fFfa e [Ans: b]
(a) Group—IIB (b) Group—IIIA (c) Group—IIIB (d) Group—1V  (e) Group-V
10.55gm Na,CO, @ syt exifire Fare T ar HCl Ariea?
(a) 3.63gm (b) 2.55gm (c) 7.26gm (d)15.52em  (e) 1.81gm
g (¢); Na,CO, + 2HCI = 2NaCl + H,CO,

36.5x2x10.55

HCl @ R = e em =7.26 gm

e @ATETEs @k ereramE (NaOH.Ca0) i SEend $88 40 (1o (odl Za?
(El) CE.HSCHD (b) CBHSOH (C) CﬁHSCH:; (d) CﬁHﬁ (E) C6H5COOH

TG (d); @" COONa + NaOH — [O) +Na,CO0,

(a) 3.70 gm (b) 14.80 gm (c) 7.40 gm (d) 0.246 gm () 0.123 gm
s (¢); Q=1t =7.5x50x60 C s @i, W=ZIt =7.40 gm
T TR W4 YRGS *redal or f&efa o1 |

{O)-N=N—<O)-OH
(a) 6.56% (b) 6.06% (c) 5.05% (d) 5.55% (€) 6.01%

TR ()3 AT wefiE ow =198 gm .- H=11—;8-x100% =5.05%

e T 79 HCN @@ NaCN o7 59t w7l 0.025M @ HCN saiead &7 7.20x107
A IeE g HY wiaw a3 s ey <= ‘ [Ans: a
(a) 7.20x10°M (b) 1.0M (©) 0.025M  (d) 5.67x107"! (e) 29.45x107"°

o3 Np?*7 @ wa @5 (mass defect) 1.65 amu zee1, 329 T6 e FEATS F© 2

(a) 24.65x10% (b) 2.46x107"1  (c) 5.89x107""  (d) 5.67x107"" () 29.45x107"°

—27 8
e 0, e LSBT0

50 gm FTFE 500 ml ~1FTe GG 1 TR | FIC #Afve Grer-se T2 (<ifF Ty = 0.9887gm / m,
m =C6H1206)

)_ =5.89x107" cal

(a) 0.9901 (b) 0.9801 (c) 0.9899 (d) 0.9902 (¢) 1.0000
AMEE: (€)5 N = UF83 FRINP =2746 ; n.y o = Bl =.277 ; D vater =.9899
18 S ]80 n’w:ltﬁ'r + nE',,HuDh
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63. mamwww@wﬁWNW? . [Ans: a]
(a) CcH (b) C\,H;, (c) C¢HsNH, (d) C¢HsCH; (e) C,,H;;OH
64. TFres @es e @mt? [Ans: e]

dry Ether

(a) CcHsCl+Mg CeHs —MgCl
(b) C¢HsCl + NaOH +HCl — C;H;OH
(c) CgHg +H,S0,2C¢Hs — HSO;
(d) CgHsOH + PCls — CcHCl
dry aluminum chloride

(e) CH, +CH,CH,CI C,H,CH, - CH,

65. “REEFERFeRE AT FG? | [Ans: d]
(a) H,SO; (b) H,S,0; (c) H,S,04 (d) H,S,0, (e) H,SO,

66. I T sp° @R sp > APRS IIET A1 AT=? [Ans: a]
(a) CH,COOH (b) CH,CH(CI)CH, (c) C;H,
(d) CH;CH,OH (¢) (CH;3),CH-OH

67. 0.5g S3F 93 & @M R =7 0.9gCO, 8 0.3 g H,O%=oig 27 | «te O @7 *roat wfmet foefa <0 |
(a) 44.24 (b) 49. 09 (c) 34.79 (d) 52.17 (e) 13.04

FgE: (a); C 93 «ifgae =E;{ 9gm =.245¢m

H, a3 =ifawrer = Ex{]3gm 0.033gm
0.5-0.245-0.033

O a7 Al = Y- x100% =44.24%

68. HCl 93 Ad NaOH @ NH,OH @3 &*+ o 9y 57.3k] @32 57.46k] NH,OH «7 Rearee o+
ffar =2 [Ans: No answer]
(a) 5.84kJ (b) 108.76KkJ (c) 57.3kJ (d) 13.7kJ (e) 58.4kJ

69. @M el UfFiTe SR T T2
(a) CH3;COOH > CH3CH,COOH (b) HSO; > H,CO;
(c) CICH,COOH > CH3COOH (d) HC1O4 > HNO; ' (e) HF > HCI
sryA: (e); HF @3 Hydrogen Bond 231
70. f&oq W [t waer-ferae e a2 [Ans: d]
(a) 2H,(g) + O,(g) =2H,0(1) (b) CH,(g)+0,(g) =CO,(g) +2H,0(g)
(c) 2H,(g) +0O,(g) =2H,0(g) (d) CaO(s)+S0O,(g) =CaSO;(s)
(e) Fe,0,(s) +3CO(g) =2Fe(1)+3CO,(g)
71. 9 Sf&L oy 792 [Ans: e]
(a) ARTTR SRR feq @t s a5
(b) GFIRTT IETRGT WS @ Ifeer St o
(c) SETETR SrAre o7 NZGTSH STors
(d) AICl; 97 &= 7o =Ll

() TG WFTE G +gE «f 77

ET, ) o Y
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72. C,oH,wqte C—H I[HNR (@1F (17 SQAOCER NI FCE A0S 207 [Ans: e]
(a) sp and 2s (b) 5p3 and Is  (c¢) sp2 and 2s (d) spand Is (e) sp2 and Is

73. @3 R IR T SO ... 3d° 4s! |~ FARATe el wEH @EG? [Ans: e]
(a) Group 1A, Period 3 (b) Group 1B, Period 4
(c) Group 1VA, Period 4 (d) Group 1VA, Period 3
(e) Group V1B, Period 4

74. 2.0M AgNO; a3 539 foraa “Aite &= 711 297 | f{eoa (@1 Sfeis 7oy? [Ans: e]
[E° for Ag*/Ag =0.80V and E°for Sn** /Sn=-0.14V] |
(a) Eﬂceu =-0.94V (b) E’cenl =40.94V
(c) E°cen =0.66V (d) 2.0M AgNO ;53 for=a “I1ea Ry 7189

(e) 2.0M AgNO; 539 B it 0 781 =1
ATIY: (e); Sn|Sn?*||Ag*|Ag; ES,; =0.14+0.8> 0
75. i Rfea Ink vs 1/ T o6 31 20T @3B 56T Gt 2ear oot | 799 @[ o (slope) % —1.1x10* =W

sizge [ e s 3o 2@?
(2) 1.00x10%Jmol™ (b) 9.14x10% Jmol™!
(c) 1.20x10*Jmol™ (d) 9.03x10*Jmol ™ (e) 2.178x10*Jmol™

g (b); S &, Ink = EHT ; E, =Rx1.1x10* =9.14x10" Jmol™

A

76. What king of Noun is the word ‘jury’ in the following sentence? "the jury are divided in their

opinions.” [Ans: c]
(a) Common noun (b) Noun of multitudes (c) collective noun
(d) Material noun (e) Proper noun

77. What type of pronoun the word “Such” is? [Ans: c]
(a) distributive (b) Relative (¢c) Demonstrative
(d) Collective noun (e) Imperative verb

78. What kind of the verb is the word “elected” ? [Ans: d]
(a) Impersonal verb (b) Factitive verb . (c) Copulative verb
(d) causative verb (e) Imperative Verb

79. Find the correct adverb form of the noun "improvement” [Ans: d]

(a) Improving  (b) Improved (c) Improvement (d) Improvably (e) Improver
80. What kind of adjective is the word ‘neither’ in the following sentence? “I shall support neither

party.”- [Ans: b]
(a) Descriptive adjective (b) Distributive adjective
(c) Demonstrative adjective (d) Possessive adjective
(¢) Numeral adjective

81. Choose the Synonym of the word “Impotent” from below. [Ans: d]
(a) Strong (b) Vigorous (c) Powerful (d) Weak (e) Useful

82. Choose the correct Antonym of the word- “Novice”. [Ans: d]
(a) Placid (b) Sparse (c) Pessimistic  (d) Veteran (e) Oasiee

83. Choose the correct plural number of the word- “Oasis” [Ans: c]
(a) Oasises (b) Oasies (c) Oases (d) Oasii (e) Oasiee

B § s L
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84.

85.
86.

87.

88.

89.

90.

91.

92.

93.

ECTR, | 0 (|

Choose the correct masculme gender of ‘Spinster’. [Ans: d]
(a) Horse (b) Tailor (c) Shepherd  (d) Bachelor (e) Gentleman

Choose an appropriate preposition for filling in the gap of the sentence below. [Ans: a]
He was true  his word.

(a) to (b) at (c) against (d) with (e) from

Which one of the following is correct? [Ans: a]
(a) He 1s better than I (b) He is better than me

(c) He is better than I am (d) He 1s better than myself (e) He is better to me
Choose the correct complex form of the sentence given below. “Only the poor will be given the

money.”
(a) Only who are poor will be given the money. [Ans: c,d]
(b) Only the poor the money will be given.

(c) Only those who are poor will be given the money.

(d) The money will be given to only those who are poor

(e) Only who are poor the money will be given.

Choose the correct compound form of the sentence below. “Though he was poor, he was honest.”
(a) He was poor but honest. (b) Although the was poor, but he was honest. [Ans: a]
(c) He was honest but poor. (d) Though he was poor, but he honest.

(e) He was honest honest he was poor. |

Which one is the correct simple form of the following compound sentence? “The lady guest not
only ate caviar but also drank coffee.” |Ans: b]
(a) The lady guest ate caviare and coffee.

(b) Besides eating caviare, the lady guest drank coffee.

(c) The lady guest ate caviare as well as coffee.

(d) The lady guest is eating caviare also coffee.

(e) The lady guest atc caviare also drank coffee.

Find the correct translation into Bengali for the sentence- “He will come round soon.”

(a) T Srereife i =i (b) &7 wEtw gfewm wifseg [Ans: c]

(c) GT H2 AT 1S SR (d) &1 e W (e) &1 w2 gfamr i
Point out the most appropriate English translation of the the sentence- “BISE @NT A 1A T |7
(a) The doctor saw the pulse of the patient. [Ans: c]

(b) The doctor examine the pulse of the patient.

(c) The doctor felt the pulse of the patient.

(d) The doctor observe the pulse of the patient.

(e) The doctor test the pulse of the patient.

Choose the correct active voice of the sentence “The man I was with was helped by me.” [Ans: ¢]
(a) I helped the man who was with. (b) I helped the man I had with.

(c) I helped the man I had been with. (d) I helped I was with the man.

(e) I helped the man I had with.

Choose the correct passive form the sentence- “Keep your word.” [Ans: ¢]
(a) You should keep word. (b) Word is kept by you.

(c) Your word should be kept. (d) Word has to be kept by you.

(e) Word must be kept by you.
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94. Which of the following is the correct direct speech of the sentence? “Rahim called me a coward.”
(a) Rahim said to me, “Coward”. [Ans: a]
(b) Rahim says to me, “You are a coward.”
(c) Rahim said to me “You are a coward”.
(d) Rahim told me, “You are a coward”.
(e) Rahim address me, “You are a coward”.

95. Choose the correct direct sentence of the following indirect sentence- “The police man asked 1f 1
had seen the accident.” " [Ans: e]
(a) The police man says to me, “Do you see the accident?” |
(b) The police man says to me, “Did you see the accident?”
(c) The police man says to me, “Did you see the accident?”
(d) The police man asked to me. “Do you see the accident?”
(e) The police man said to me, “Had you seen the accident?”

96. Choose a correct word for the blank in the sentence, “.......I could fly in the sky!” [Ans: c]
(a) How (b) Have (c) If (d) Oh (e) Were -
97. Change the voice of the sentence, “They had a nice car.” |[Ans: e]

(a) A nice car had been by them  (b) A nice car was had by them
(c) A nice car had had by them (d) A nice car is had by them
(e) No passive form.
Read the following passage carefully and give answer to Question No. 98 to 100.
Einstein was very simple in his ways of life and indifferent to his astounding fame. Once, the
Queen of Belgium invited him to Brussels. When he got down from the train at the Brussels, he
could not think that there ware actually many gorgeously dress officials to receive him at the
station. The officials also expected to see somebody who would appear to be rich and aristocratic
to them. They never imagined that this shabby man would be Einstein himself. So they went back
to the queen and informed her that he had not come by the train. Einstein, however, walked the
whole way with a suitcase in one hand and a violin in the other. When he reached the destination
the queen said to him, “I sent a car for you, Dr. Einstein,” “I did not think.” replied the great
scientist with a smile, ‘that anybody would send a car for me. But I can assure you, I have greatly
enjoyed the walk.” -

98. What did the officials expect to see the scientist Einstein? [Ans: e]
(a) The officials expected to see someone to be a very absent minded.
(b) The officials expected to see someone to be a thoughtful person.
(c) The officials expected to see someone to be well dressed person.
(d) The officials expected to see someone to be a smart and aristocratic person.
(e) The officials expected to see someone to be a rich and aristocratic person.

99. What Einstein could not think of his reception? [Ans: c]
(a) He could not think that many high official will come to receive him.
(b) He could not think that many ambassadors will come to receive him.
(c) He could not think that many gorgeously dressed officials will come to receive him.
(d) He could not think that many Royal family members will come to receive him.
(€) He could not think that the Queen herself will come to receive him.

100. What did Einstein carry with him on the way he walked down? [Ans: d]
(a) He carried a big bag and a p1ano.
(b) He carried a big luggage and a violin.
(c) He carried a briefcase and a piano.
(d) He carried a suitcase and a violin.
(e) He carried a suitcase and a back pipe.
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